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For eash:gugstion from T to 10, four opti
Make yotir ghoice {1, 2, 3 or 4). Wiite yol

2

ons are given. Oneof them s the gorrey —
ur answer in the bracket provided.
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1 \Which of e Tollowing about how thie arganisms get their energy is not frue?

o
@
3
4)

All aitnals get thelr energy-from the sun indirectly.
Al animals depend on the: plant Inglivectly for energy.
Some:animals dépend on the plant directly for energy.

All plants depend onthe sun directly for energy to- make its own-food:

2 The-diagramn below shows a green leaf cafrying out. photosynthesis.

oxXygen

Which ﬁ?"‘?tiﬁe'*fé:iiléwin‘g represent the torfect s.u'pﬁance-S-éfak&min-:aﬂd given:out by the

leafduring photosynthesis?
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water

fight

__chiorophyll

water

‘ carbm dioxide:

light

i carbcn diomde

water

fight

B waier

This following foy car Istbaitery-operated.
; _ siren sounds and
hght ﬂashas when it

ID

direttion of
movement

Which of the following shows the coirect energy conversions of the toy car when it is
sviitched on?

(1) Electricatenergy % kinigtic energy

(2) Electrdcalenergy -> Kinetic + light - sound energy

3) Chemical potential energy -> electrical energy - kinetic * light energy

(4} Chemical potential energy > slectrical eriergy - kinetic +light * sound.energy

{Go-on ta the next page)
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John wanted to investigate the factor affecting the rate. of photosynthesis using the

following set-up.

oxygen bubbles famp

distance (cm) ’D

beaker

He recorded his results in the graph as shown below.

Number
of
bubbles

> Variabig X

Which of the following is likely variable X that John was testing?

1) Amount of light

{2} Amount of sugar
(3) Amount of oxygen
(4) Distance between the beaker and the lamp

Alif compressed awspring to launch a toy rocket in a room as shown. There wasno wind.

e

rocket 6o .

spring P
N hard floor

distance moved by rockef  —————eps

Which isfare the main form(s} of energy of the rocket at H?

{1} Kinetic energy only
{2} Gravitational potential energy only
(3) Kinetic energy and sound energy

{4) Gravitational potential energy and kinetic energy

{Go onlothe next'page)
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Annie palated leaf X, Y and Z @ shown below and placed the plant under the lamp for few

hatirs.

lamp

Top and bettom part
of the leaf painted.
with black paint z

Top part of the leaf
paifited with oil

™\ Top and bottom. part of the
leaf painted with oil

Anne removed the 3 leaves, X, Y and Z from the plant and dropped an equal amount of
iodine solution onto each leaf, .

On which leaf or lsaves would ihé lodine trn-dark blue?
(1) Xonly

2) XandYonly

3) YandZonly

{4)  None of the above

Study the-diagram below.

electric toy train

B
The electric toy trainmoved easily from A to B'butmoved up the siope Slowly.
Which of the following s the likely reason?

{1y From Ato B, all kinetic engrgy'is-converted o potential energy.

{2) Erom A'to B, some potential energy is convered to Kinetic energy.
{3)  Alongthe slope, all potential energy is converted o Kinetic energy.
#)  Alongtheslope, somekingtic engrgy is-converted to potential energy

{Go on to'the next pagey
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g}?shqa was cycling.and the graph below shows the amount of kinefic energy that his
iycle had, '

Kittetic |
energy of
Qgg,is bicycie .

e

> Time

A B G D
Which of the following statements is true about what happens from Bto C.in the graph
above? ‘

(1)  The boy was c¢ycling slower.
(2)  The boy was cycling up a slope.
{3)  The boy was cycling down a slope.

(4)  The boy was cycling on a rough pavement.

The diagram below shows part of aswind turbine:

genarator

Which of the following is not correct about the wind turbine?

{1} More electricity is generated when the turbine turns faster,

(2} The speed of the wind affects the amount of electricity produced.

(3} Potential energy in wind Is converted to kiretic energy in the turbine.

(4} Using wind turbine to produce electricity does not pollute the environment.

{Go on to the next page)




8

10 The diagrany below shows a child on-a swing:

e e W7 I 2

Which of e fol lowing graphs show the-eh .aﬁges-:m}the :g’rav-itjaiionali potential energy-and -

the kineti¢ energy of e swirig as it moved fromB to A?

&

4

Energy
X

Potential -
energy

Kinetic
s, energy

N

A

B A Positon

@

@

4

Energy

Potential
encrgy

“s. Kinetic
Yy energy
x

i, ™

8 A Posiion

Enargy
3

Kinetic /'~
L energy/

% Potential

B A pesten

P

{Bo on'fothe next page)
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F";,?-‘;)e;"’tf"“& 11 to 14, write your answers in the spaces provided. The number of marks
ftabie Is shown in brackets | | at the end of each question or part question.

[16 marks]

Yirong set up-an experiment {o find out if the amount of pollutants in water affects the rate of
photosynthesissof hydrilla as shown in the diagram below. He used 600 mi of water from
four different ponds, W, X, Y and Z and recorded thé number of bubbles relsased per minute,
for each water sample, e

light source- ~ Number of bubbles
per minute
F 3
am———tes_t tube
g
j pond water .
. hydrilla plant rv:l X ¥ > »\Nater sample

{a) What do the bubbles contain? {11
{b} Based dn the results above, arrange the pond water, W, X, Y and Z from the least fo the

{c}

(d)

most poliuted. [

Pond Water
Least polluted - + Most polluted

How does the amount of poliutants in the pond water affect the rate of photosynthesis?
Explain your answer. {2

Suggest a control séf-up for the above expenmient:

{Go on to the next page)
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daytime. '

= solar cells

{a) Fill in'the bioxes 1o show the energy chianges in the solar power systeinduring daytime, [1]

5 AP

snergy energy
from the sun in the circuit

(b) ‘State one advantage of using solar energy. 1]

(30 oni {6 the nigxt page)
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13 :dethy pulled a rubber strap W of a catapult. When he released the strap; the stone shot
orward. He then measured the distance of the stone travelled.

rubber strap

He then repeated his experiment with rubber straps X and Y. They are of the same length
but different types of rubber. The table below shows the resulfs of his experiment.

Rubber strap Distance travelled by the stone {cm)
W _ 40
X 20
Y 30

(a) Based on the above results, which rubber strap, W, X or Y, has the most elastic potential
energy? Explain your answer. (1]

(b) For each rubber strap, explain why Timothy has to pull the rubber strap to the same distance.
to ensure a fair test. : (2]

{Go on to the next page)
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# 332{3* 41 rest, ‘was released from position 1:at.2 meters in height as shawn below. it rolied
§§ *t position 2 and'stopped thoving when itreached position:3. The amount of different types
Fenergy ball A passessed at position 1&g drawn in the following gragh

position 1 ﬂﬂer_gyj éymts}

B kinetie ~ potential
anergy gneray
Position 1

¥

8) Draw on foliowing graph to show the different types of eniefgy ball A possessed at
position 2. 2
M,y . o

o S OO SN SR
i R
R

1

. f i

)

Kinelic  potenial
ehgigy  energy
Bosition 2.

(b} A heavier ball B-was used and released-al the same height as ball.A. Explain hiowe ft
Woilld affect the speed and distance travelled by ball B, 2]

e} Giys reasonwhy ballA stopped at position 3 i

End of Paper

{Go onto the next page)



Methodist Girls® School (Primary)

2024 P6 Weiahfod A
| Weighted Assessment 1 Suggested Answers
Section A:

No | Answer ]

g *JSZW._,__L“_W__ No Answer

2 T e 6 1

R Y / 4

N B 8 3

*’“g'**——m_,..l,_____& 9 3
B— 4 10 1
Section B:

1 (a) | Oxygen

) | X> Z5Y SW (most poliuted)

() As the amount of pollutants in the pond water increases (decreases), the rate of
photosynthesis decreases (increases) because water allows less (more) light fo
pass through so that the leaves of the plant would trap less (more) tight to carry otet
photosynithesis and produce less (more) bubbles.

(d) | Asimilar set-up with tap water

12 (a) | Light > electrical

(b) | Solar energy will not run out.

13 (@) | W, Using rubber strap W, the distance travelled by the stone is the furthest as
rubber strap W has the most elastic potential energy to be converted 1o maost
kinetic energy in the stone, '

{b) The distance travelled by the stone will be only affected by the type of rubber
straps, but not by the distance he pulled. :

14 (a)

i ; KE can be even
J}em—:rgy {uniis} ‘}.energy {units) less (lower, but
not zero}
or
kinetic potential i kinetic potential !
energy anergy enargy energy

{b) Heavier ball wili have more gravitational potential energy which will be converted to
more kinetic energy of the ball. Then the ball will roll down faster and travel further.

(c} | All kinetic energy is converted to heal and scund energy.

Page 1
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